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QUESTION 1

On the Alcatel-Lucent 7750 PGW, which of the following CLI commands Is used to check the APN-AMBR enforced on
the PGW for a particular UE?

A. Show mobile-gateway pdn pdn-context

B. Show mobile-gateway pdn pdn-context imsi detalil
C. Show mobile-gateway pdn bearer-context

D. Show mobile-gateway pdn bearer-context imsi detail
E. Show mobile-gateway pdn ue-context

F. Show mobile-gateway pdn ue-context imsi detail

Correct Answer: B

QUESTION 2

Which of the following statements are TRUE regarding the Dynamic PCC rules? (Choose two)
A. The Dynamic PCC rules are created on the PCRF and pushed (or pulled) down to the PCEF.
B. The Dynamic PCC rules are created on the PCEF and pushed (or pulled) down to the PCRF.

C. When GTP tunnels are used between the SGW and PGW, the Gxc interface is used between the PCRF and the
PCEF to carry the dynamic PCC rules.

D. When GTP tunnels are used between the SGW and PGW, the Rx interface is used between the PCRF and the
PCEF to carry the dynamic PCC rules.

E. When GTP tunnels are used between the SGW and PGW, the Gx interface is used between the PCRF and the
PCEF to carry the dynamic PCC rules.

Correct Answer: AE

QUESTION 3

Which of the following interfaces is not using the GTP-C protocol?
A. The X2 interface.

B. The S1-U interface.

C. The S4 interface.

D. The S5 interface.

E. The SGi interface.
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Correct Answer: E

QUESTION 4

Which of the following statements is FALSE regarding the X2 interface?

A. Itis the interface used to connect two eNodeBs.

B. It provides some mobility management functions between two eNodeBs.
C. The X2-AP is the application layer signaling protocol for the X2 interface.
D. Itis never used to transport user data packets.

E. Itis an IP-based interface.

Correct Answer: D

QUESTION 5

Which of the following statements are TRUE regarding the Predefined PCC rules? (Choose two) A. The Predefined
PCC rules are preconfigured on the PCRF.

B. The Predefined PCC rules are preconfigured on the PCEF.
C. The Predefined PCC rules are preconfigured on the MME.
D. The Predefined PCC rules are activated or deactivated by the PCEF at any time.
E. The Predefined PCC rules are activated or deactivated by the PCRF at anytime.

Correct Answer: BE
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